

Applied Mathematics & Information Sciences An International Journal

http://dx.doi.org/10.12785/amis/080326

On Generalized Left Derivations in BCI-Algebras

G. Muhiuddin^{1,*} and A. M. Al-roqi²

¹ Department of Mathematics, University of Tabuk, P. O. Box 741, Tabuk 71491, Saudi Arabia
 ² Department of Mathematics, King Abdulaziz University, P. O. Box 80203, Jeddah 21589, Saudi Arabia

Received: 28 May. 2013, Revised: 2 Oct. 2013, Accepted: 3 Oct. 2013 Published online: 1 May. 2014

Abstract: In the present paper, we introduce the notion of *generalized left derivation* of a *BCI*-algebra X, construct several examples, and investigate related properties. Also establish some results on regular *generalized left derivation*. Furthermore, for a generalized left derivation H, the concept of a H-invariant *generalized left derivation* is introduced, and examples are discussed. Using this concept a condition for a *generalized left derivation* to be regular is provided. Finally, some results on p-semisimple *BCI*-algebra are obtained and it is shown that let H be a self map in a p-semisimple *BCI*-algebra X. Then H is a *generalized left derivation* if and only if it is a derivation on X.

Keywords: Derivations, BCI-Algebras

1 Introduction

The notion of BCK-algebras and BCI-algebras were introduced by Y. Imai and K. Iseki in 1966 [9,10]. BCK-algebras and **BCI**-algebras are algebraic formulation of BCK-system and BCI-system in combinatory logic. Later, the notion of BCI algebras have been extensively investigated by many researchers (see [2,3,14] and references there in). BCI-algebra is a generalization of a BCK-algebra that is every BCK-algebra is a BCI-algebra but not vice versa(see [6]). Therefore, most of the algebras related to the t-norm based logic such as MTL [5], BL, hoop, MV [4] (i.e lattice implication algebra) and Boolean algebras etc., are extensions of BCK-algebras which have a lot of applications in computer science (see [19]). Cosequetly, BCK/BCI-algebras are considerably general structures.

Throughout the present paper X will denote a *BCI*-algebra. Jun and Xin [11] applied the notion of derivation in ring and near-ring theory to *BCI*-algebras in the year 2004 and introduced a new concept called a (regular) derivation in *BCI*-algebras, and investigated some of its properties. Using the notion of a regular derivation, they also established characterizations of a *p*-semisimple *BCI*-algebra. For a self map *d* of a *BCI*-algebra, they defined a *d*-invariant ideal, and gave conditions for an ideal to be *d*-invariant. During the last

10 years, a greater interest has been devoted to the study on derivations in *BCI*-algebras and a number of research articles have been published in this direction on various aspects (see [1, 8, 15, 16, 17, 18, 20]).

Motivated by notions of *left derivations* [1] and generalized derivations [18] in the theory of BCI-algebras, in this paper, we introduced the notion of generalized left derivations on BCI-algebras and investigate related properties. The concept of generalized left derivations covers the concept of left derivations on BCI-algebras. Further, we obtain some results on regular generalized left derivations. Also, for a generalized left derivation H, we introduce the concept of a H-invariant generalized left derivations and give some examples. Using this concept we provide a condition for a generalized left derivation to be regular. Finally, we characterize the notion of p-semisimple BCI-algebra X by using the concept of *generalized left derivation* and show that let *H* be a self map in a p-semisimple *BCI*-algebra *X*. Then *H* is a *generalized left derivation* if and only if it is a derivation on X.

^{*} Corresponding author e-mail: chishtygm@gmail.com

2 Preliminaries

in this section, we collect the following definitions and properties from the existing literature that will be needed in the sequel.

A nonempty set *X* with a constant 0 and a binary operation * is called a *BCI-algebra* if for all $x, y, z \in X$ the following conditions hold:

(I)((x*y)*(x*z))*(z*y) = 0,(II)(x*(x*y))*y = 0,(III)x*x = 0,(IV)x*y = 0 and y*x = 0 imply x = y.

Define a binary relation \leq on *X* by letting x * y = 0 if and only if $x \leq y$. Then (X, \leq) is a partially ordered set. A BCI-algebra *X* satisfying $0 \leq x$ for all $x \in X$, is called BCK-algebra.

A *BCI*-algebra *X* has the following properties: for all $x, y, z \in X$

(a1)x * 0 = x. (a2)(x * y) * z = (x * z) * y. (a3) $x \le y$ implies $x * z \le y * z$ and $z * y \le z * x$. (a4) $(x * z) * (y * z) \le x * y$. (a5)x * (x * (x * y)) = x * y. (a6)0 * (x * y) = (0 * x) * (0 * y). (a7)x * 0 = 0 implies x = 0.

For a *BCI*-algebra *X*, denote by X_+ (resp. G(X)) the *BCK*-part (resp. the *BCI*-G part) of *X*, i.e., X_+ is the set of all $x \in X$ such that $0 \le x$ (resp. $G(X) := \{x \in X \mid 0 * x = x\}$). Note that $G(X) \cap X_+ = \{0\}$ (see [13]). If $X_+ = \{0\}$, then *X* is called a *p*-semisimple *BCI*-algebra. In a *p*-semisimple *BCI*-algebra *X*, the following hold:

(a8)(x*z)*(y*z) = x*y. $(a9)0*(0*x) = x \text{ for all } x \in X.$ (a10)x*(0*y) = y*(0*x).(a11)x*y = 0 implies x = y.(a12)x*a = x*b implies a = b.(a13)a*x = b*x implies a = b.(a14)a*(a*x) = x.(a15)(x*y)*(w*z) = (x*w)*(y*z).

Let *X* be a *p*-semisimple *BCI*-algebra. We define addition "+" as x + y = x * (0 * y) for all $x, y \in X$. Then (X, +) is an abelian group with identity 0 and x - y = x * y. Conversely let (X, +) be an abelian group with identity 0 and let x * y = x - y. Then *X* is a *p*-semisimple *BCI*-algebra and x + y = x * (0 * y) for all $x, y \in X$ (see [14]).

For a *BCI*-algebra *X* we denote $x \land y = y * (y * x)$, in particular $0 * (0 * x) = a_x$, and $L_p(X) := \{a \in X \mid x * a = 0 \Rightarrow x = a, \forall x \in X\}$. We call the elements of $L_p(X)$ the *patoms* of *X*. For any $a \in X$, let $V(a) := \{x \in X \mid a * x = 0\}$, which is called the *branch* of *X* with respect to *a*. It follows that $x * y \in V(a * b)$ whenever $x \in V(a)$ and $y \in V(b)$ for all $x, y \in X$ and all $a, b \in L_p(X)$. Note that $L_p(X) = \{x \in X \mid a_x = x\}$, which is the *p*-semisimple part of *X*, and *X* is a *p*-semisimple *BCI*-algebra if and only if $L_p(X) = X$ (see [12],[Proposition 3.2]). Note also that $a_x \in L_p(X)$, i.e., $0 * (0 * a_x) = a_x$, which implies that $a_x * y \in L_p(X)$ for all $y \in X$. It is clear that $G(X) \subset L_p(X)$, and x * (x * a) = a and $a * x \in L_p(X)$ for all $a \in L_p(X)$ and all $x \in X$. For more details, refer to [2, 3, 11, 12, 13, 14].

3 Generalized Left Derivations

We introduce the notion of *generalized left derivation* of a BCI-algebra *X* as follows:

Definition 1.Let X be a BCI-algebra. Then a self map H: $X \rightarrow X$ is called a generalized left derivation of X if there exists a left derivation $D: X \rightarrow X$ such that

$$D(x*y) = x*H(y) \land y*D(x)$$
 for all $x, y \in X$.

Note that if H = D, then the *generalized left derivation* of a *BCI*-algebra X is a left derivation of a *BCI*-algebra X.

*Example 1.*Let be $X = \{0, 1, 2\}$ a *BCI*-algebra with the following Cayley table:

$$\begin{array}{c} * & 0 & 1 & 2 \\ \hline 0 & 0 & 0 & 2 \\ 1 & 1 & 0 & 2 \\ 2 & 2 & 2 & 0 \end{array}$$

(1) We define a map

$$D: X \to X, \ x \mapsto \begin{cases} 2 \text{ if } x \in \{0, 1\}, \\ 0 \text{ if } x = 2, \end{cases}$$

It can be easily verified that D is a left derivation of X. Again, define a map

$$H: X \to X, \ x \mapsto \begin{cases} 0 \text{ if } x \in \{0, 1\}, \\ 2 \text{ if } x = 2, \end{cases}$$

It is easy to check that H is a *generalized left derivation* of X.

(2) Define a map

$$D: X \to X, \ x \mapsto \begin{cases} 0 \text{ if } x \in \{0, 2\} \\ 1 \text{ if } x = 1, \end{cases}$$

It is easy to check that *D* is a left derivation of *X*.

(2.1) Define a map

$$H: X \to X, \ x \mapsto \begin{cases} 2 \text{ if } x \in \{0,1\}, \\ 0 \text{ if } x = 2, \end{cases}$$

It is easy to see that H is a generalized left derivation of X.

(2.2) If we define a map $H: X \to X$ by H(x) = 2 for all $x \in X$, then we can easily verify that *H* is *generalized left derivation X*.

(2.3) If we define a map $H: X \to X$ by H(x) = 0 for all $x \in X$, then we can easily verify that *H* is *generalized left derivation* of *X*.

Theorem 1.Let *H* be a generalized left derivation of a BCI-algebra X. Then

 $\begin{array}{l} (1)x \in L_p(X) \ \Rightarrow \ H(x) \in L_p(X) \ for \ all \ x \in X. \\ (2)H(x) = 0 + H(x) \ for \ all \ x \in X. \\ (3)H(x+y) = x + H(y) \ for \ all \ x \in L_p(X). \\ (4)x \in G(X) \ \Rightarrow \ H(x) \in G(X) \ for \ all \ x \in X. \end{array}$

Proof.(1) For any $x \in L_p(X)$, we have

$$\begin{aligned} H(x) &= H(0*(0*x)) \\ &= (0*H(0*x)) \land ((0*x)*D(0)) \\ &= ((0*x)*D(0))*(((0*x)*D(0))*(0*H(0*x))) \\ &= 0*H(0*x) \in L_p(X). \end{aligned}$$

(2) By (1), we have
$$H(x) \in L_p(X)$$
. Then

$$H(x) = 0 * (0 * H(x)) = 0 + H(x).$$

(3) For any $x, y \in L_p(X)$, we have

$$H(x+y) = H(x * (0 * y))$$

= $(x * H(0 * y)) \land ((0 * y) * D(x))$
= $((0 * y) * D(x)) * (((0 * y) * D(x)) * (x * H(0 * y)))$
= $x * H(0 * y)$
= $x * ((0 * H(y)) \land (y * D(0)))$
= $x * (0 * H(y))$
= $x + H(y).$

(4)Let $x \in G(X)$. Then 0 * x = x, and so

$$H(x) = H(0 * x)$$

= (0 * H(x)) \lapha (x * D(0))
= (x * D(0)) * ((x * D(0)) * (0 * H(x)))
= 0 * H(x)

since $0 * H(x) \in L_p(X)$. Hence $H(x) \in G(X)$. This completes the proof.

If we take H = D in Theorem 1, then we have the following corollary.

Corollary 1([1]). Let D be a left derivation of a BCI-algebra X. Then

 $(1)x \in L_p(X) \Rightarrow D(x) \in L_p(X) \text{ for all } x \in X.$ $(2)D(x) = 0 + D(x) \text{ for all } x \in X.$ $(3)D(x+y) = x + D(y) \text{ for all } x, y \in L_p(X).$ $(4)x \in G(X) \Rightarrow D(x) \in G(X) \text{ for all } x \in X.$

Theorem 2.Let *H* be a generalized left derivation of a BCI-algebra X. Then

 $(1)x \in L_p(X) \Rightarrow H(x) = x * H(0) = x + H(0) \text{ for all } x \in X.$

 $\begin{array}{l} (2)H(x+y)=H(x)+H(y)-H(0) \ for \ all \ x,y\in L_p(X).\\ (3)H \ is \ identity \ on \ L_p(X) \ if \ and \ only \ if \ H(0)=0.\\ (4)H(x*y)\leq x*H(y) \ for \ all \ x,y\in X. \end{array}$

Proof.(1) For any $x \in L_p(X)$, we have

$$\begin{aligned} H(x) &= H(x * 0) = (x * H(0)) \land (0 * D(x)) \\ &= (0 * D(x)) * ((0 * D(x)) * (x * H(0))) \\ &= (0 * D(x)) * ((0 * (x * H(0))) * D(x)) \\ &= 0 * (0 * (x * H(0))) \\ &= x * H(0) = x * (0 * H(0)) \\ &= x + H(0) \end{aligned}$$

since $x * H(0) \in L_p(X)$ and $H(0) \in G(X)$.

(2) If $x, y \in L_p(X)$, then $x + y \in L_p(X)$. Using (1), we have

$$H(x+y) = (x+y) + H(0)$$

= x + H(0) + y + H(0) - H(0)
= H(x) + H(y) - H(0).

(3) It follows from (1).

(4) For any $x, y \in X$, we have

$$H(x*y) = (x*H(y)) \land (y*D(x)) = (y*D(x))*((y*D(x))*(x*H(y))) \le x*H(y).$$

This completes the proof.

Definition 2.*A* generalized left derivation *H* of a *BCI*-algebra *X* is said to be regular if H(0) = 0.

Example 2.(1) The *generalized left derivation* H of X in Examples 1 (1) and 1 (2.3) are regular.

(2) The *generalized left derivation H* of *X* in Examples 1 (2.1) and 1 (2.2) are not regular.

Theorem 3.*If X is a BCK-algebra, then every generalized left derivation of X is regular.*

*Proof.*Let H be a *generalized left derivation* of a *BCK*-algebra X. Then

$$H(0) = H(0 * x) = (0 * H(x)) \land (x * D(0)) = 0 \land (x * D(0)) = 0.$$

Hence *H* is regular.

In a *BCI*-algebra, Theorem 3 is not true as seen in the following example:

*Example 3.*In Example 1 (2.1), H is a *generalized left derivation* of a *BCI*-algebra X which is not regular.

Theorem 4.Let *H* be a regular generalized left derivation of a BCI-algebra X. Then

(1)Both x and H(x) belong to the same branch for all x ∈ X.
(2)H(x) ≤ x for all x ∈ X.
(3)H(x) * y ≤ x * H(y) for all x, y ∈ X.

Proof.(1) Let $x \in X$. Then we have

$$0 = H(0) = H(a_x * x)$$

= $(a_x * H(x)) \land (x * D(a_x))$
= $(x * D(a_x)) * ((x * D(a_x)) * (a_x * H(x)))$
= $a_x * H(x)$

since $a_x * H(x) \in L_p(X)$. Hence $a_x \leq H(x)$, and so $H(x) \in V(a_x)$. Obviously, $x \in V(a_x)$.

(2) Since *H* is regular, H(0) = 0. Then

$$H(x) = H(x * 0)$$

= (x * H(0)) \lapha (0 * D(x))
= (x * 0) \lapha (0 * D(x))
= (0 * D(x)) * ((0 * D(x)) * x)
< x.

(3) Since $H(x) \le x$ for all $x \in X$ by (2). Using (a3), we have

$$H(x) * y \le x * y \le x * H(y).$$

This completes the proof.

Theorem 5. For any generalized left derivation H of a BCI-algebra X, the set

$$H^{-1}(0) := \{x \in X \mid H(x) = 0\}$$

is a subalgebra of X if x = 0 for all $x \in X$. Moreover, $H^{-1}(0) \subseteq X_+$.

*Proof.*Assume that x = 0 for all $x \in X$. Let $x, y \in H^{-1}(0)$. Then H(x) = 0 = H(y), and so

$$H(x * y) \le x * H(y) = 0 * 0 = 0$$

by Theorem 2(4). Hence H(x * y) = 0 by (a7), that is, $x * y \in H^{-1}(0)$. Hence $H^{-1}(0)$ is a subalgebra of *X*. Further, let $x \in H^{-1}(0)$. Then $0 = H(x) \le x$ by Theorem 4(2), which implies that $x \in X_+$, showing that $H^{-1}(0) \subseteq X_+$. This completes the proof.

Definition 3. For a generalized left derivation H of a BCIalgebra X, we say that an ideal I of X is H-invariant if $H(I) \subseteq I$. *Example 4.*(1) Let *H* be a *generalized left derivation* of *X* which is described in Example 1 (2.1). We know that $I := \{0, 1\}$ is an ideal of *X* which is not *H*-invariant.

(2) Let *H* be a *generalized left derivation* of *X* which is described in Example 1 (1). We know that $I := \{0, 1\}$ is a *H*-invariant ideal of *X*.

Theorem 6.Let *H* be a generalized left derivation of a BCI-algebra X. Then *H* is regular if and only if every ideal of X is *H*-invariant.

*Proof.*Let *I* be an ideal of *X*. Suppose *H* is regular, then it follows from Theorem 4 (2) that $H(x) \le x$ for all $x \in X$ implying thereby H(x) * x = 0. Let $y \in X$ be such that $y \in H(I)$. Then y = H(x) for some $x \in I$. Thus

$$y * x = H(x) * x = 0 \in I.$$

Since *I* is an ideal of *X*, it follows that $y \in A$ so that $H(I) \subseteq I$. Therefore *I* is *H*-invariant.

Conversely, suppose that every ideal of X is H-invariant. Since the zero ideal $\{0\}$ is clearly H-invariant, we have $H(\{0\}) \subseteq \{0\}$, and so H(0) = 0. Hence H is regular.

If we take H = D in Theorem 6, then we have the following corollary.

Corollary 2([1]). Let D be a left derivation of a BCI-algebra X. Then D is regular if and only if every ideal of X is D-invariant.

Next, we prove some results in a p-semisimple *BCI*-algebra.

Theorem 7.Let *H* be a generalized left derivation of a *p*-semisimple BCI-algebra *X*, we have the following assertions:

(1)x * H(x) = y * H(y) for all $x, y \in X$. (2)H(x * y) = x * H(y) for all $x, y \in X$. (3)H(x) * x = H(y) * y for all $x, y \in X$. (4)H(x) * x = y * H(y) for all $x, y \in X$.

Proof.(1) Let *X* be a p-semisimple *BCI*-algebra. Then for any $x, y \in X$, we have

$$H(0) = H(x * x) = (x * H(x)) \land (x * D(x)) = x * H(x).$$

Also,

$$H(0) = H(y * y) = (y * H(y)) \land (y * D(y)) = y * H(y).$$

Henceforth, we get x * H(x) = y * H(y).

(2) Let *X* be a p-semisimple *BCI*-algebra. Then for any $x, y \in X$, we have

$$H(x*y) = (x*H(y)) \land (y*D(x)) = x*H(y).$$

(3) Using (I), we have

$$(x*y)*(x*H(y)) \le H(y)*y$$

and

$$(y * x) * (y * H(x)) \le H(x) * x$$

these above inequalities can be rewritten as

((x * y) * (x * H(y))) * (H(y) * y) = 0

and

((y * x) * (y * H(x))) * (H(x) * x) = 0

Consequently, we get

$$((x*y)*(x*H(y)))*(H(y)*y) = ((y*x)*(y*H(x)))*(H(x)*x)$$
(3.1)

Also, using (1) and (2), we obtain

$$(x*y)*H(x*y) = (y*x)*H(y*x)$$

$$\implies (x*y)*(x*H(y)) = (y*x)*(y*H(x))$$
(3.2)

Since, X is a p-semisimple *BCI*-algebra. Hence, by using equation (3.2) and (a12), the above equation (3.1) yields H(x) * x = H(y) * y.

(4) We know that H(0) = x * H(x). Using (3), we get H(0) * 0 = H(y) * y implies H(0) = H(y) * y. Therefore H(y) * y = x * H(x) implying thereby H(x) * x = y * H(y). This completes the proof.

If we take H = D in Theorem 7, then we have the following corollary.

Corollary 3([1]). Let D be a left derivation of a *p*-semisimple BCI-algebra X, we have the following assertions:

(1)D(x * y) = x * D(y) for all $x, y \in X$. (2)D(x) * x = D(y) * y for all $x, y \in X$. (3)D(x) * x = y * D(y) for all $x, y \in X$.

Theorem 8.Let *H* be a self map in a *p*-semisimple BCIalgebra *X*. Then *H* is a generalized left derivation if and only if it is a derivation on *X*.

*Proof.*Suppose that *H* is a *generalized left derivation* on *X*. First, we show that *H* is a (r,l)-derivation on *X*. Let $x, y \in X$. Using (a14), we have

$$H(x*y) = x*H(y) = (H(x)*y)*((H(x)*y)*(x*H(y))) = (x*H(y)) \land (H(x)*y).$$

Hence *H* is a (r,l)-derivation on *X*.

Again, we show that *H* is a (l,r)-derivation on *X*. Let $x, y \in X$. Using Theorem 7(4) and (a15), we have

$$\begin{aligned} H(x*y) &= x*H(y) \\ &= (x*0)*H(y) \\ &= (x*(H(0)*H(0)))*H(y) \\ &= (x*((x*H(x))*(H(y)*y)))*H(y) \\ &= (x*H(y))*((x*H(x))*(H(y)*y)) \\ &= (x*H(y))*((x*H(y))*(H(x)*y)) \\ &= (H(x)*y) \wedge (x*H(y)). \end{aligned}$$

Conversely, suppose that *H* is a derivation of *X*. As *H* is a (r,l)-derivation on *X*. Then for any $x, y \in X$, we have

$$\begin{split} H(x*y) &= (x*H(y)) \land (H(x)*y) \\ &= (H(x)*y)*((H(x)*y)*(x*H(y))) \\ &= x*H(y) \\ &= (y*D(x))*((y*D(x))*(x*H(y))) \\ &= (x*H(y)) \land (y*D(x)). \end{split}$$

Hence *H* is a *generalized left derivation*. This completes the proof.

If we take H = D in Theorem 8, then we have the following corollary.

Corollary 4([1]). Let D be a self map in a p-semisimple BCI-algebra X. Then D is a left derivation if and only if it is a derivation on X.

Acknowledgement

This research was partially supported by the Deanship of Scientific Research (DSR), King Abdulaziz University, Jeddah 21589, Ministry of Higher Education, Saudi Arabia. The authors would like to express their sincere thanks to the anonymous referees.

References

- H. A. S. Abujabal and N. O. Al-Shehri: On Left Derivations of BCI-algebras, Soochow J. Math., 33, 435–444 (2007).
- [2] M. Aslam and A. B. Thaheem: A note on p-semisimple BCIalgebras, Math. Japon., 36, 39-45 (1991).
- [3] S. A. Bhatti, M. A. Chaudhry and B. Ahmad: On classification of BCI-algebras, Math. Japon., 34, 865–876 (1989).
- [4] C. C. Chang: Algebraic analysis of many valued logics, Trans. Amer. Math. Soc., 88, 467-490 (1958).
- [5] F. Esteva and L. Godo: Monoidal t-norm based logic: towards a logic for left-continuous t-norms, Fuzzy Sets and Systems, 124, 271-288 (2001).
- [6] Q. P. Hu and K. Iseki: On some classes of BCI-algebras, Math. Japon., 2, 251-253 (1984).



 [7] B. Hvala: *Generalized derivations in rings*, Comm. Algebra, 26, 1147-1166 (1998).

1158

- [8] S. Ilbira, A. Firat and B. Y. Jun: On Symmetric bi-Derivations of BCI-algebra, Applied Math. Sci., 5, 2957-2966 (2011).
- [9] Y. Imai and K. Iseki: *On axiom systems of propositional calculi XIV*, Proc. Japan Academy, **42**, 19-22 (1966).
- [10] K. Iseki: An algebra related with a propositional calculi, Proc. Japan Acad., 42, 26-29 (1966).
- [11] Y. B. Jun and X. L. Xin: On derivations of BCI-algebras, Inform. Sci., 159, 167–176 (2004).
- [12] Y. B. Jun, X. L. Xin and E. H. Roh: *The role of atoms in BCI-algebras*, Soochow J. Math., **30**, 491–506 (2004).
- [13] Y. B. Jun and E. H. Roh: On the BCI-G part of BCIalgebras, Math. Japon., 38, 697–702 (1993).
- [14] D. J. Meng: BCI-algebras and abelian groups, Math. Japon., 32, 693–696 (1987).
- [15] G. Mudiuddin and A. M. Al-roqi, On t-derivations of BCIalgebras, Abstract and Applied Analysis, 2012, 12 pages (2012).
- [16] G. Mudiuddin and A. M. Al-roqi, *On* (α, β) -derivations in *BCI*-algebras, Discrete Dynamics in Nature and Society, **2012**, 11 pages (2012).
- [17] G. Mudiuddin, A. M. Al-roqi, Y.B. Jun and Y. Ceven, On Symmetric Left Bi-Derivations in *BCI*-algebras, International Journal of Mathematics and Mathematical Sciences, **2013**, 6 pages (2013).
- [18] M. A. Ozturk, Y. Ceven and Y. B. Jun: *Generalized Derivations of BCI-algebras*, Honam Math. J., **31**, 601-609 (2009).
- [19] J. E. Whitesitt: *Boolean algebras and its applications*, New York, Courier Dover Publications, (1995).
- [20] J. Zhan and Y. L. Liu: On *f*-derivations of BCI-algebras, Int. J. Math. Math. Sci., **2005**, 1675–1684 (2005).



G. Muhiuddin working is at Department of Mathematics, Tabuk University, Tabuk 71491. Saudi Arabia as an Assistant Professor. He has received his Ph.D. degree in

Mathematics. His mathematical research areas are Algebras related to logic (BCK, BCI, BCC-algebras, Hilbert algebras, implication algebras), Fuzzy logical algebras and Category theory. He has reviewed many research papers in this area as well as other related areas.



Α. М. Al-roqi working is at Department of Mathematics, King Abdulaziz University, Jeddah 21589, Saudi Arabia as an Associate Professor. He has received his Ph.D. degree in Mathematics

from School Of Mathematics and Statistics, University of Birmingham, United Kingdom. His mathematical research areas are Algebras related to logic, Finite Group Theory, Soluble groups, Classification of finite simple groups and Representation Theory.